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HHAALATREATSI H € Mat,, ., (C) %, V € GL(n,C) ZHWT
H=VAV™! A=diag(\;,A2,...,\n) (1)

CART WAGIRT D, 727120, N €C (i=1,2,...,n) & HOBEGME. T, 7 vn ||V, @bt d 25005
% ro(V) = VI, [V, £BE<.
HoOREEZ (0<)s; <s9<--- <5, EEL. TDE X Frobenius /L4

A € Matnxn(C) = [[Allg = |/ Tr[AAT] € Rxg (2)
DT 25,

S 57 = Te[HHT = [HIE = VAV 3 < (VI AL (V7|2 = (Z IAZ-Q) rr (V) (4)
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% 7z, Frobenius / VA & 2-/ )L A
A € Mat,,xn(C) = ||A]l, = s, € Rxg (7)
f D) isi IS

[ABlg < [[Allg IBll; (A, B € Maty,n(C)) (8)

*1 2% Cauchy-Schwarz OF%ER & b
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S s2 = VAV e < VAR IV = AV [V < AT VIS (V15 = (Z M) a(V)2.
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depe () < | Y- VRV =1, (12)
Ko (V) > 1+<Z|)\i|2> depy (H) (13)
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*2 g2 L 3 — M7 BB 22 =% V175 U T

BB = Udiag(s?,s3,...,5s2)U"! 9)
DEITHALT DL,
|AB||Z = Tr[ABBTAT] = Tr[BBTATA] = Tr[U diag(s?, 53, .. .,s2)ULATA] = Tr[diag(s?, 53, . .., s2)UTLATAU]
= sH(UTIATAU);; <s7 > (UTTATAU),; = ||BII3 Tr[UT M ATAU] = ||BJI3 Tr[AAT] = ||A]% [IB]3 (10)
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